Problem 1. {40 points) Give the products for the following reactions. If there i g | N
the final product. = & 9 15 moie & siep, just pive
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Problem 2. (10 points). For the following reactions. check the following box 10 indicate if the equilibriuvm
pesition lies towards the reactants or the produces,
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Problem 3. (10 poinis) Using the malonic ester synthesis, what compound would vou 2dd 10 diethylmalonate
to give the following product - you do not need to show the svathesis. Circle the compound that
you would wose,
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Problem 4. (30 points) What reagents would you use to carry out the following reactions. More than one siep
ms:r be mqumi bul oo more than 4 steps gre required.

If more than one sl;cp is r:quu-sd number each stl:‘p_‘

Problem 5. (10 poinis} Show how you would carry out the following transformation.
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